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41 | 75 EERT 48 51 99 19.6 79. 4
42 | INFREFR 52 46 98 18. 4 79.6
43 | FIUE L= 50 52 102 22.0 80.0
44 | REERE 54 54 108 28.0 80. 0
45 A HFERER 46 48 94 13.6 80. 4
46 | AR FEA 56 54 110 29. 2 80. 8
47 | TR LT 49 47 96 14.8 81.2
48 | L fETs 54 48 102 20. 8 81.2
49 | &mILE 46 46 92 10.0 82.0
50 | PEARRHSH 48 54 102 19.6 82. 4
51 | KRAZFEZ 55 53 108 25.6 82. 4
52 | HEFIEH 52 58 110 26. 8 83. 2
53 | dbEEFE 1 54 56 110 26. 8 83. 2
54 | Il L= 56 51 107 23.2 83.8
55 | HiHE ek 57 49 106 20. 8 85. 2
56 | ad-HFER 52 52 104 18. 4 85.6
57 | R¥E A0 55 62 117 29. 2 87.8
58 | PEIERIE 66 62 128 35.2 92. 8
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1 RAREE 43 43 86 16.0 70. 0
2 EBFIEFN 37 42 79 7.6 71. 4
3 KRIMBEZ 45 44 89 17.2 71.8
4 TREIRK 37 40 77 4.0 73.0
SMRET & 46 42 88 14.8 73.2
6 = HAFE 39 42 81 7.6 73.4
7 bW FEF] 41 38 79 5.2 73.8
8 | A EA 42 48 90 16.0 74.0
9 T OEE 46 44 90 16.0 74.0
10 | EFHNIET 40 47 87 12.4 74.6
11 | EBFIERE 43 43 86 11.2 74.8
12 THEIEE 45 47 92 17.2 74.8
13 | WEES 36 37 73 -2.0 75.0
14 | FocEH] 46 45 91 16.0 75.0
15 | paEfE 42 48 90 14.8 75.2
16 | REEEGD 50 52 102 26. 8 75.2
17 | HRAFIE 40 43 83 7.6 75. 4
18 | EREE 40 43 83 7.6 75. 4
19 | FrHEZE 49 52 101 25. 6 75. 4
20  SEEJEFE 41 41 82 6.4 75.6
21 AL F] 46 42 88 12.4 75.6
22 | RATHlT 45 43 88 12.4 75.6
23 Bprh B 49 51 100 24. 4 75. 6
24 | P HEIETE 41 46 87 11.2 75.8
25 | fEOLIEAG 44 41 85 8.8 76. 2
26 | VLM% 44 41 85 8.8 76. 2
27 | EARILTE 46 45 91 14.8 76. 2
28 | /NLFESC 50 47 97 20. 8 76. 2
29 | B % 44 46 90 13.6 76. 4
30 KH JET 49 47 96 19.6 76. 4
31 | {FEH 52 49 101 24. 4 76. 6
32 | EFFERR 46 52 98 20. 8 77.2
33 PHEECF 45 51 96 18. 4 77.6
34 EHEBA 49 46 95 17.2 77.8
35 H RN 50 51 101 23.2 77.8
36 FfoE{= 49 51 100 22.0 78.0
37 EHZEFMm 47 51 98 19.6 78.4
38 HH & 51 47 98 19.6 78. 4
39 AR PEKE 52 50 102 23.2 78.8
40 | KAEACELR 46 49 95 16.0 79.0
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